p(r)

Ratio to ATLAS

10

1071

[EEY

0.5

Jets

--V¥--

I IIIIII|
o

7000 GeV pp

ATLAS

- Pythia 6.428 390
- Pythia 6.428 391
- Pythia 6.428 392
- Pythia 6.428 396
\Pythia 6.428 397

R\(thia 6.428 398
Y

)

Rivet 3.1.0, = 13M events

— \\\ ]
N
SN
N
ﬁz\\\s
SIS
SIS —]
| ~ 53
— N -
N
- s\\\ . p—
S
L \\aﬁ ]
~ . *
— ~ . ]
&~
| = .. 1
"
- <~
~o S
— ~ ~ =~ . —
-~ ..\\'
el RO
~ <L
*~~\ RO
~\§~~
— Ty —
| | | | | | | | |
] 1 1 1 | | 1 1 -
| P S - S [ ]
RO~ it - oy - A - A
| AT < e | T i B el ] B —
-
%, ------ .
s * =y
B ¥ _
""" ) &

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


